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QUESTION 1

Referring to the exhibit, both clustered devices are in a master state. What is the cause of this situation? 

NSPROD1(M)-> get nsrp ha-link total_ha_port = 2 probe on ha-link is disabled unused channel: ethernet8 (ifnum: 11)
maC. 0010db1d1e8b statE. down unused channel: ethernet7 (ifnum: 10) maC. 0010db1d1e8a statE. down ha control
link not available ha data link not available ha secondary path link not available 

A. The cluster is not configured for NSRP. 

B. The cluster is in the process of failing over from the primary node to the secondary node. 

C. Probes on the HA links have been disabled, causing the HA links to go down. 

D. The control and the data link is down. 

Correct Answer: D 

 

QUESTION 2

You have been making changes on an NSRP cluster and find that the ScreenOS devices are out of sync. You want to
synchronize the devices\\' configurations together. Which command and process are needed to accomplish this task? 

A. Run the command set nsrp sync global-config check-sum on the local device and then reset the peer device. 

B. Run the command set nsrp sync global-config save on the backup device and then reset the backup device. 

C. Run the command exec nsrp sync config save on the peer device and then reset the peer device. 

D. Run the command exec nsrp sync global-config save on the backup device and then reset the backup device. 

Correct Answer: D 

 

QUESTION 3

You want to enable IPv6 on your ScreenOS device. Which command should you use to accomplish this goal? 

A. set envar ipv6=enable 

B. set ipv6 enable 

C. set envar ipv6=yes 

D. set ipv6 yes 

Correct Answer: C 

 

QUESTION 4
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What is the default timeout for a fully established TCP session? 

A. 10 minutes 

B. 30 seconds 

C. 30 minutes 

D. 300 seconds 

Correct Answer: C 

 

QUESTION 5

Users on the 10.10.10.0/24 subnet are reporting connectivity problems. While troubleshooting, you see the output
shown in the exhibit. What is the cause of the route flapping? 

A. The autonomous system (AS) ID is incorrect. 

B. The interface is in the incorrect OSPF area. 

C. A duplicate router ID exists in the network. 

D. The OSPF neighbors have different hold timer values. 
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Correct Answer: C 
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